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Exercice	
  2	
  

2
2

0

sin n
nI t dt

π

= ∫ 	
  

on	
  pose	
  	
   ( ) 2 1sin nu t t−= 	
  donc	
   ( ) ( ) 2 2' 2 1 cos sin nu t n t t−= − 	
  

	
   	
   ( )' sinv t t= 	
  avec	
   ( ) cosv t t= − 	
  

u 	
  et	
   v 	
  sont	
  de	
  classe	
   1C 	
  sur	
  	
   0,
2
π⎡ ⎤

⎢ ⎥⎣ ⎦
	
  donc	
  on	
  peut	
  intégrer	
  par	
  parties	
  et	
  

( ) ( ) ( )
2 2 2

2 2 1 2 2 2 2 2 22
0

0 0 0

sin cos sin 2 1 cos sin 2 1 1 sin sinn n n n
nI t dt t t n t t dt n t t dt

π π π
π

− − −⎡ ⎤= = − + − = − −⎣ ⎦∫ ∫ ∫
d’où	
   ( ) ( )12 1 2 1n n nI n I n I−= − − − 	
  soit	
   ( ) 12 2 1n nnI n I −= − 	
  	
  et	
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  en	
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  que	
   ( )( )
( )

( )( )2 1 2 3 ...5 3 1 2 1 2 3 ...5 3 1
2 2 2 ...6 4 2 2 2 ! 2n n

n n n n
I

n n n
π π− − × × − − × ×

= × = ×
− × ×

	
  

Et	
  	
  
( )
( )22

2 !
22 !

n n

n
I

n
π

= ×

	
  

	
  



Exercice	
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Donc	
  l’égalité	
  est	
  vérifiée	
  au	
  rang	
  0.	
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  ! ! = ! !!! !   alors	
  !′ ! = ! !!! ! 	
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!!
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  ! ! = − !!! !!!

!!! !
    	
  

u 	
  et	
   v 	
  sont	
  de	
  classe	
   1C 	
  sur	
   !, ! 	
  	
  donc	
  on	
  peut	
  intégrer	
  par	
  parties	
  et	
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!!
  ! ! ! +    !!! !!!

!!! !
  ! !!! ! !"!

!
!!!
!!! 	
  

Donc	
  si	
  l’égalité	
  est	
  vrai	
  au	
  rang	
  n,	
  elle	
  l’est	
  au	
  rang	
  ! + 1.	
  

	
  

On	
  a	
  donc	
  montré	
  par	
  récurrence	
  que	
  pour	
  tout	
  ! ∈ ℝ	
  on	
  a	
  :	
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Exercice	
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a.	
   ( ) 4 25 4
xf x

x x
=

− +
	
  

( )( ) ( )( )( )( )4 2 2 25 4 1 4 1 1 2 2x x x x x x x x− + = − − = − + − + 	
  

donc	
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− + − + − +
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ce	
  qui	
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Exercice	
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Exercice	
  6	
  

( )22
1

ln

1

x xI dx
x

+∞

=
+

∫ 	
  	
  

! ↦   !  !"#
!!!! !	
  	
  est	
  continue	
  sur	
  [ [1,+∞ 	
  

!  !"#
!!!! !~!!

!"#
!!
≤ !

!!
	
  	
  	
  car	
   0, lnx x x∀ > ≤ 	
  

2
1

dx
x

+∞

∫ 	
  converge	
  donc	
  par	
  comparaison	
  	
  
( )22

1

ln

1

x x dx
x

+∞

+
∫ 	
  converge.	
  

On	
  pose	
  

( ) lnu x x= 	
  donc	
   ( ) 1'u x
x
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( )22

'
1

xv x
x

=
+

	
  avec	
   ( )
( )2
1

2 1
v x

x
−

=
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u 	
  et	
  v 	
  sont	
  de	
  classe	
   1C 	
  sur	
  [ [1,+∞ ,	
  donc	
  en	
  intégrant	
  par	
  parties	
  

( ) ( )2 2
11

ln 1 1
22 1 1

xI dx
x x x

+∞
+∞⎡ ⎤−

⎢ ⎥= +
+ +⎢ ⎥⎣ ⎦

∫ 	
  

  !"#
!!!!

~!!
!"#
!!
→!! 0	
  (croissances	
  comparées)	
  donc	
  

( )2
1

ln 0
2 1

x
x

+∞
⎡ ⎤−
⎢ ⎥ =

+⎢ ⎥⎣ ⎦
	
  

( ) 22

1 1
11
x

x xx x
= −

++
	
  donc	
  

( ) ( )22 2
11 1

1 1ln ln 1 ln
21 1

xdx x x
x x x

+∞+∞+∞ ⎡ ⎤⎡ ⎤= − + = ⎢ ⎥⎢ ⎥+ ⎣ ⎦ +⎣ ⎦
∫ 	
  

!
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!
!
= 1	
  	
  	
  	
  	
  donc	
  

2
lim ln 0

1x

x
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=
+

	
  

	
  

et	
  finalement	
  
1 1 1 1ln ln 2 ln 2
2 2 42

I = − = =
	
  

	
  

	
  




